EHATRENE (FHEMATEENE) FAR

(WNhEREZE—HEEE X1BAI=1027H (E?ﬂégﬂ:m& EREEISEILES ) FRI0FE4FEE
YA
HH EEAAFT N EFIH eSS
BE |ZKRE| BHE [ZKRE
ES3A — — 578 611 B4i/H
EXiE2 — — 719 765 H{i/H
ZhEEl 753]  826] — — BfHi/H
ZEE2 798] 874 — — BfHi/H
ZIEEs 859] 935] — — Bii/H
ZIriE4 911 986] — — Hii/H
ZEES 962] 1039] — — Hii/H
REBEREMNE 24| Efi/H
BRI NEYT—a ERINE 240| EBifsp/[A]
EEMRNEAFREZANE 120 Efi/H
BEBME 8| EfI/[El| EM0eSCAICESIRERE
ElnE 184| Eifi/[g] RE[CDE
XENRREEE 511 Bifii/H RERAEERE
REETH - DEBEKRBRARSINE 200| H{i/H 7B% LR
654| H{i/H| SEREILL 4IRS
HENEEANRREREHATFTRENE 905| Bifii/B| ARG LLE6RFREIRE
1257| Efi/B| 6EfREILL ESEREIRA
RAEFEMT7MECD) 3| B{i/H
RAEZEMST 7 NED) 4| Hifi/B
BREABERAFRZANE 90| H{i/H
EEREEEMNE 120] Bfi/B| ENE4-50FBEICRES
EEERTIEREEME(LD) 34| H{i/H
EEE R IERKEME(D) 46| E{i/H
H—E X{BEAGRIEME I (1) 18] BfI/B|N#EBEDZIU AN EELL
NEEBE LB RENE | 1 BEAIEE x 10000039 Bfi/A| 17ADBEMAFISHE
QORENEE .
BB == 218 i
[EES BRE R i
BEECGEFEE) 1640 370 A/H/
BE (5 4200 H/8
BER) 670 H/H
BE (YY) 610 H/H
HRRE 130 H/H
BERED 100] H/H
(R)Z D FI L
IHH +% &% B=
RAEREZE 324 A/B [TLE-ABELL 4F
ERER — IR E=E 540 A/B |[FLE-ABEDE 24F
HRlEZE 1620 H/B |FL-TLE ABE-S= 4%
TLE)—X 108 H/A
mEE)—R 108] H/H
BAEOELEZOI M 43| H/B [1arE kHhi=Y




	短期入所

